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Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
Directions (1–4) : In each of the following

questions, select the related letter/word/

number from the given alternatives.

funsZ'k (1&4) % fuEu iz'uksa esa ls izR;sd iz'u esa fn, x,
fodYiksa esa ls lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
1. Frame : Picture :: Binding : ?

<+kapk % fp=k %% ftYn % \
(A) Hammer/gFkkSM+k (B) Book/iqLrd
(C) Museum/laxzgky;(D) Carpenter/[kkrh

2. 6 : 72 :: 4 :

(A) 32 (B) 24

(C) 12 (D) 16

3. BACK: KCAB :: EMPTY : ?

(A) YPMET  (B) YTMPE

(C) YETPM  (D) YTPME

4. BUCKET : ACTVBDJLDFSU :: LOCAL : ?

(A) KMPNBBAKM  (B) KMPNBDZBKM

(C) KMNPBDZBKM  (D) KMNPBDBKM

Directions (4–8) : Find the odd word/letter/

number from the given alternatives.

funsZ'k (4&8)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@
la[;k dks pqfu, A
5. (A) 43 (B) 53

(C) 73 (D) 63

6. (A) Escape/cpuk (B) Avoid/Vkyuk
(C) Avert/cpk ysuk (D) Attack/vkØe.k

7. (A) GIJM (B) TRPS

(C) CEFI (D) LNOR

8. (A) RED/yky (B) GREEN/gjk
(C) BLUE/uhyk (D) YELLOW/ihyk

9. If 5th December, 1992 was Sunday, then

find the day on 5th December, 1996?

;fn 5 fnlEcj] 1992 dks jfookj Fkk] rks 5 fnlEcj] 1996

dk fnu Kkr dhft,\
(A) Friday/'kqØokj (B) Thursday/xq:okj
(C) Tuesday/eaxyokj(D) Sunday/jfookj

10. Arrange the following words as per order in

the dictionary.

fuEufyf[kr 'kCnksa dks 'kCndks'k esa fn, x, Øe ds vuqlkj
O;ofLFkr djsaA
1. Magendie 2. Magistrate

3. Magazine 4. Magainin

(A) 4 1 2 3 (B) 4 3 2 1

(C) 1 2 3 4 (D) 4 3 1 2

11. Choose the correct alternatives from the

given ones that will complete the series.

fn, x, fodYiksa esa ls lgh fodYi dk p;u djsa tks fd

J̀a[kyk dks iwjk djsxkA

t_tts_ _stt_t

(A) tsst (B) tsts

(C) stts (D) stst

Directions (12-13) : In the following questions,

a series is given with some terms missing.

Choose the correct alternative from the given

ones that will complete the series:

funsZ'k (12-13) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k

gS ftlesa dqN in yqIr gSA fn, x, fodYiksa esa ls og lgh

fodYi pqfu, tks vuqØe dks iwjk djsaA

12. 6, 7, 16, 41, 90,  _

(A) 190 (B) 162

(C) 171 (D) 144

13. G4T, J9R, M20P, _

(A) O43N (B) P43N

(C) P42N (D) P43M

14. In a code language, if MONKEY    is coded as

XDJMNL, then the word PREVENT will be

coded as-

fdlh dwV Hkk"kk esa] ;fn MONKEY  dks XDJMNL ls

dwfVr djrs gSa] rks PREVENT 'kCn dks dSls dwfVr fd;k

tk,xk\

(A) SNDUQDO (B) SODUDQO

(C) SMDUDOQ (D) SMDUDQO

15. Pointing to a photograph Aman said, "He is

the son of the only son of my grandfather."

How is the person in photograph related to

Aman?

,d rLohj dh rjiQ b'kkjk djrs gq, veu us dgk] ¶og esjs

nknk th ds ,d ek=k iq=k dk iq=k gSA¸ veu dk rLohj esa

O;fDr ls dSls lacaf/r gS\

(A) Brother/HkkbZ (B) Uncle/pkpk

(C) Sister/cgu (D) Data inadequate

tkudkjh vi;kZIr gSA
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16. A group of letters is numbered as 1, 2, 3, 4,

5. Four alternatives are given below

containing combinations of these numbers.

Select a combination of numbers so that

letters arranged accordingly, form a

meaningful word.

fdlh v{kjksa ds lewg dks 1, 2, 3, 4, 5 ls vafdr fd;k x;k
gSA uhps fn, x, pkj fodYiksa esa la[;kvksa dk lap; fn;k x;k
gSA ,d vFkZiw.kZ 'kCn cukus ds fy, fdlh ,d la[;k ds lap;
dk p;u djsaA

Y E T P M

1 2 3 4 5

    

(A) 5 2 3 1 4 (B) 3 4 1 5 2

(C) 2 5 1 4 3 (D) 2 5 4 3 1

Directions (17-18): In the following questions,

select the missing number from the given

responses.

funsZ'k (17-18): fuEufyf[kr iz'uksa esa fn, x, fodYiksa esa ls
yqIr la[;k Kkr dhft,A

17. 27 60 47

5 9 8

11 ? 20

(A) 21 (B) 24

(C) 27 (D) 20

18. 5 47 7

8 89 9

8 ? 5

(A) 47 (B) 53

(C) 50 (D) 49

19. A walks 20 km towards North. He turns left

and walks 40 km. Again he turns left and

walks 20 km. Finally , he walks 20 km after

turning to the left. How far is he from his

initial point.

A 20 fdeh- mÙkj dh vksj pyrk gSA og ck,a eqM+rk gS vkSj
40 fdeh- pyrk gSA fiQj og ck,a eqM+rk gS vkSj 20 fdeh-
pyrk gSA var esa og ck¡, eqM+us ds ckn 20 fdeh pyrk gS
og vkjafHkd fcUnq ls fdruh nwj gS\
(A) 60 km/fdeh- (B) 20 km/fdeh-
(C) 40 km/fdeh- (D) 30 km/fdeh-

20. Which of the following diagrams indicate

the best relation between Gold, Metal, and

Zinc?

buesa ls dkSu&lk vkjs[k lksuk] /krq vkSj tLrk ds chp lgh
laca/ bafxr djrk gS\

(A) (B)

(C) (D)

21. Two positions of a dice are given below.
Identify the number at the bottom when 4

is at the top.

,d ikls dh 2 fLFkfr;k¡ uhps nh xbZ gSaA ry dh la[;k dh
igpku dhft, tc f'k[kj ij 4 gksA

2 

3 1 

5 

4 1

(A) 3 (B) 6
(C) 5 (D) 2

Direction (22): Two statements are given which
are followed by two conclusions I and II. You
have to consider the two statements to be true
even if they seem to be at variance from
commonly known facts. You have to decide
which of the given conclusions, if any, follow

from the given statements.

funsZ'k % iz'u la[;k 22 esa nks dFku vkSj mlds vkxs nks fu"d"kZ
I vkSj II fn, x, gSaA vkidks bu dFkuksa dks lR; ekudj fopkj
djuk gS pkgs os lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrs gksaA
vkidks fu.kZ; djuk gS fd fn, x, fu"d"kksZ esa ls dkSu lk
fu"d"kZ ;fn dksbZ gS] fuf'pr :i ls dFku ds vk/kj ij
fudkyk tk ldrk gSA
22. Statements/dFku

Some Pages are Pen

dqN dkxt dyze gSA
Some Letters are Pen

dqN i=k dye gSA
Conclusion/fu"d"kZ
I. Some Pages are Letter.

dqN dkxt i=k gSA
II. All Pens are Letter.

lHkh dye i=k gSA
(A) Only conclusion I follows

dsoy fu"d"kZ I vuqlj.k djrk gSA
(B) Only conclusion II follows

dsoy fu"d"kZ II vuqlj.k djrk gSA
(C) Either conclusion I or conclusion II

follows

;k rks fu"d"kZ I ;k II vuqlj.k djrk gSA
(D) Neither conclusion I nor conclusion II

follows

u rks fu"d"kZ I u II vuqlj.k djrk gSA
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23. Which of the answer figure is the right

water image of the question figure ?

nh xbZ mÙkj vkÑfr;ksa esa ls dkSu lh vkÑfr iz'u vkÑfr dk
lgh ty izfrfcEc gSa\
Question Figure/iz'u vkÑfr

 MIRROR

Answer Figure/mÙkj vkÑfr
(A) (B)
(C) (D)

24. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from
these matrices can be represented first by
its row and next by its column. E.g., ‘A’ can
be represented by 01, 14, etc., and ‘M’ can
be represented by 56, 68, etc. Similarly, you
have to identify the set for the word

‘ANAGRAM’.

,d 'kCn osQoy ,d la[;k&lewg }kjk sn'kkZ;k x;k gS] tSlk
fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr
dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘A’ dks 01,

14, vkfn }kjk n'kkZ;k tk ldrk gS rFkk ‘M’ dks 56, 68

vkfn }kjk n'kkZ;k tk ldrk gSA blh rjg ls] vkidks 'kCn
‘ANAGRAM’ ds fy, la[;k lewg dks igpkuuk gSA

Matrix-I Matrix-II

0 1 2 3 4

0 P A G R Z

1 G R Z P A

2 Z P A G R

3 A G R Z P

4 R Z P A G

  

5 6 7 8 9

5 E M L N O

6 L E O M N

7 O N E L M

8 N O M E L

9 M L N O E

(A) 14, 97, 13, 23, 32, 22, 79

(B) 30, 97, 13, 23, 33, 22, 79

(C) 30, 97, 14, 23, 32, 22, 79

(D) 14, 97, 13, 32, 23, 22, 75

25. A piece of paper is folded and cut as shown

below in the question figures. From the

given answer figures, indicate how it will

appear when opened?

uhps iz'u vko`Qfr;ksa esa fn[kk;s vuqlkj dkxt dks eksM+dj
[kksyus osQ ckn og fdl mÙkj vko`Qfr tSls fn[kkbZ nsxk\
Question figure/iz'u vko`Qfr %

Answer figure/mÙkj vko`Qfr %

(A) (B) (C) (D)
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Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh

26. Radar is an object detection system, that

uses radio waves to:

jMkj fdlh oLrq dh fLFkfr dk irk yxkus dh iz.kkyh gS]
ftlesa jsfM;ks rjaxksa dk mi;ksx fd;k tkrk gS&
(A) Locate geostationary satellites

HkwfLFkj mixzgksa dk irk yxkus ds fy,
(B) Determine the range, altitude,

direction or speed of object

oLrqvksa dh lhek] Å¡pkbZ] fn'kk ;k xfr ds fu/kZj.k ds
fy,

(C) Locate submerged submarines

tyeXu iuMqfCc;ksa dk irk yxkus ds fy,
(D) All of these

mijksDr lHkh
27. Who is the newly appointed Executive

Director (ED) of Reserve Bank of India (RBI)?

Hkkjrh; fjtoZ cSad ds u, dk;Zdkjh funsZ'kd (bZMh) ds :i
esa fdls fu;qDr fd;k x;k gSa\
(A) Chandan Sinha /pnau flagk
(B) Arvind Mayaram/vjfoan ek;kjke
(C) S Ganesh Kumar/,l x.ks'k dqekj
(D) Rajiv Mehrishi/jktho esjh"kh

28. Which committee recommended for three

language formula ?

fdl lfefr us f=kHkk"kh; lw=k dh fliQkfj'k dh Fkh \
(A) Kothari Committee/dksBkjh lfefr
(B) Raj Committee/jkt lfefr
(C) Dutt Committee/nÙk lfefr
(D) L.M Singhavi Committee/,y-,e-fla?koh lfefr

29. In a business, raw materials, components,

work in progress and finished goods are

jointly regarded as

O;olk; esa] dPpk eky] vo;o] dk;Z esa izxfr vkSj rS;kj
eky la;qDr :i ls gksrs gS mls ekuk tkrk gS&
(A) Capital stock/iwathxr LVkWd
(B) Inventory/oLrq lwph
(C) Investment/fuos'k
(D) Net worth/dqy ewY;

30. The World Milk Day (WMD) is observed on

which date?

fo'o nw/ fnol (MCy) fdl fnu euk;k tkrk gS\
(A) 3 June /3 twu (B) 1 June/1 twu
(C) 4 June /4 twu (D) 5 June/5 twu

31. The transfer of data from a CPU to peripheral

devices of computer is achieved through.

dEI;wVj ds MkVk dks lh-ih-;w- ls ifjf/ ;a=kksa dk LFkkukarj.k
fdlds ekè;e ls izkIr fd;k tkrk gS\
(A) modems/eksMe
(B) computer ports/dEI;wVj iksV~Zl
(C) interfaces/bUVjisQl
(D) buffer memory/ciQj esejh

32. The main excretory product of frog is-

esa<d }kjk eq[; mRlftZr vif'k"V gksrk gS&
(A) Urea/;wfj;k
(B) Ammonia/veksfu;k
(C) Uric acid/;wfjd vEy
(D) Amino acid/vehuks vEy

33. Chemically Ruby and Blue sapphire are:

ekf.kD; vkSj uhye ds jklk;fud :i gS&
(A) Silicon dioxide/flfydkWu MkbDlkbM
(B) Aluminium oxide/,Y;wfefu;e vkWDlkbM
(C) Lead tetraoxide/ysM VsVªkDlkbM
(D) Boron nitride/cksjksu ukbVªkbM

34. A plane glass slab is kept over coloured

letters, the letter which appears least raised

is

tc jaxhu v{kjksa ij lery dk¡p dh iVV~h j[kh tkrh gS] rks
dkSu lk v{kj de mBk gqvk fn[kkbZ nsrk gS\
(A) Red/yky (B) Violet/cSaxuh
(C) Black/dkyk (D) Green/gjk

35. The Sri Venkateswara National Park is

located in which state?

Jh osadVs'oj jk"Vªh; mn;ku fdl jkT; esa fLFkr gS\
(A) Kerala/dsjy
(B) Karnataka/dukZVd
(C) Himachal Pradesh/fgekpy izns'k
(D) Andhra Pradesh/vkU/z izns'k

36. Which among the following Gupta emperors

called himself "Lichchhavi-dauhitra"?

fuEu esa ls fdl xqIr lezkV us Loa; dks fyPNoh&nkSfg=k dgk
Fkk\
(A) Shrigupta/JhxqIr
(B) Chandragupta I/panzxqIr izFke
(C) Chandragupta II/panzxqIr f}rh;
(D) Samudragupta/leqnzxqIr

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com
Branches :- Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library-9521314152,Ajmer-7340019191, Kankroli-7229922209

ANUSHKA ACADEMY



AN
US

HK
A 

AC
AD

EM
Y

37. Which of the following is a correct sequence?

fuEufyf[kr esa ls dkSu&lk ,d Øe lgh gS\
(A) Rudraprayag, Karnaprayag, Vishun-

prayag, Devprayag, Nandprayag

:nziz;kx] d.kZiz;kx] fo".kqiz;kx] nsoiz;kx] uaniz;kx
(B) Nandprayag, Vishnuprayag, Karna-

prayag, Rudraprayag, Devprayag

uaniz;kx] fo".kqiz;kx] d.kZiz;kx] :nziz;kx] nsoiz;kx
(C) Vishnuprayag, Nandprayag, Karna-

prayag, Rudraprayag, Devprayag

fo".kqiz;kx] uaniz;kx] d.kZiz;kx] :nziz;kx] nsoiz;kx
(D) Devprayag, Nandprayag, Vishnu-prayag,

Karanprayag, Rudraprayag

nsoiz;kx] uaniz;kx] fo".kqiz;kx] d.kZiz;kx] :nziz;kx
38. When was the reservation of 27%

government jobs for other backward classes
declared for the first time in Independent
India?

Lora=k Hkkjr esa igyh ckj vkfFkZd :i ls detksj oxksZa ds fy,
ljdkjh ukSdjh esa 27% vkj{k.k dk izko/ku dc izLrkfor
fd;k x;k\
(A) In the year 1990/1990 ds o"kZ esa
(B) In the year 1988/1988 ds o"kZ esa
(C) In the year 1985/1985 ds o"kZ esa
(D) In the year 1982/1982 ds o"kZ esa

39. White clothes are cooler than black ones
because they

dkys oL=kksa ds eqdkcys 'osr oL=k vf/d 'khry D;ksa gksrs gSa\
(A) absorb all the light that reaches them

vius ikl igq¡pus okys lHkh izdk'k dks vo'kksf"kr dj
ysrs gaS

(B) reflect all the light that reaches them

muds ikl tks Hkh izdk'k igq¡prk gS os mls ijkofrZr dj
nsrs gSA

(C) will not allow the light to penetrate

izdk'k Hksnu ugha gksus nsrs gSa
(D) cool the sunlight completely

lw;Z ds izdk'k dks iw.kZr;k 'khry dj nsrs gSa
40. Which one of the following is related to

Advisory Jurisdiction of the Supreme Court?

fuEufyf[kr esa ls fdldk laca/ mPpre U;k;ky; dh lykgdkj
vf/dkfjrk ls gS\
(A) Election Commission seeking opinion

from the Supreme Court

mPpre U;k;ky; ls ijke'kZ ysus okys fuokZpu vk;ksx
(B) States seeking opinion from the

Supreme Court

mPpre U;k;ky; ls ijke'kZ ysus okys jkT;
(C) President of India seeks opinion on law

or facts

dkuwu vFkok rF;ksa ds ckjs esa ijke'kZ ysus okys Hkkjr ds
jk"Vªifr

(D) Speaker of the Parliament seeking
opinion from the Supreme Court

mPpre U;k;ky; ls ijke'kZ ysus okys lalnh; (yksdlHkk)
vè;{k

41. Which of the following gas is released/

produced on reaction of water with calcium

carbide?

dSfY'k;e dkckZbM ds lkFk ty dh izfrfØ;k }kjk dkSu&lh

xSl mRiUu gksrh gS\

(A) Methane/ehFksu

(B) Ethane/bFksu

(C) Ethylene/bFkyhu

(D) Acetylene/,slhfVyhu
42. At "Break-even point",

¶larqyu LRkj fLFkfr¸ esa %
(A) the producers suffers the minimum

losses

mRikndksa dks U;wure gkfu gksrh gSA
(B) the seller earns maximum profit

foØsrk vf/dre ykHk vftZr djrk gSA
(C) the firm is at zero-profit point

iQeZ 'kwU; ykHk fLFkfr esa gksrh gSA
(D) the industry is in equilibrium in the

long-run.

m|ksx nh?kZ vof/ esa lkE;koLFkk esa gksrk gSA
43. Which state government will collaborate

with UNDOC to intensify anti-drug drive?

fdl jkT; ljdkj us ;w-,u-Mh-vkslh ds lg;ksx ls u'kk

fojks/h vfHk;ku dks rsth ls c<+kok fn;k gS&

(A) Punjab /iatkc

(B) Haryana /gfj;k.kk

(C) Uttar Pradesh /mÙkj izns'k

(D) Madhya Pradesh /eè; izns'k
44. 'Madhubani', a style of folk paintings is

popular in which of the following states in

India ?

yksd fp=kdyk dh ̂ e/qcuh* 'kSyh Hkkjr esa fuEufyf[kr esa ls

fdl jkT; esa izpfyr gS \

(A) Bihar/fcgkj

(B) Madhya Pradesh/eè; izns'k

(C) Uttar Pradesh/mÙkj izns'k

(D) West Bengal/if'pe caxky
45. Hoover Dam is built on which of the following

rivers?

gwoj cka/ fuEufyf[kr esa ls fdl unh ij cuk;k x;k gS\

(A) Nile River/uhy unh

(B) Colorado River/dksyksjkMks unh

(C) Rhine River/jkbu unh

(D) Niger River/ukbtj unh
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46. Biggest ever black hole has been found in
which galaxy?

vc rd dk lcls cM+k CySd gksy fdl vkdk'kxaxk esa ik;k
x;k gS\
(A) Andromeda Galaxy/,aMªksesMk vkdk'kxaxk
(B) Galaxy NGC 1277/xSysDlh ,uthlh 1277

(C) Galaxy NGC 4889/xSysDlh ,uthlh 4889

(D) Galaxy Henize 2-10/xSysDlh gSfut 2-10

47. Drug which helps to reduce anxiety and
brings about calmness is

og vkS"kf/ dkSu&lh gS] tks nqf'park dks de djrh gS vkSj
'kkafr iznku djrh gSa\
(A) tranquilizer/iz'kkard
(B) diuretic/ew=ky
(C) analgesic/ihMk&gjd
(D) antihistamine/,saVhfgLVkfeu

48. The antacid marketed as milk of magnesia

has as main ingredient :

^feYd vkWiQ eSXuhfl;k ds :i esa* ^foi.ku fd, x,
,aVh,flM (vEyRouk'kd) esa dkSu&ls eq[; ?kVd gksrs gS\

(A) MgCO
3

(B) MgSO
4

(C) Mg (OH)
2

(D) MgCl
2

49. India's Balance of Payments can be
corrected through-

Hkkjr ds Hkqxrku larqyu dks fdlds }kjk Bhd fd;k tk ldrk
gS\
(A) Devaluation of currency/eqnzk voewY;u
(B) Vigorous export promotion/izcy fu;kZr laca/u
(C) Import substitution/vk;kr izfrLFkkiu
(D) All of the above/mi;qZDr lHkh

50. Who among the following founded the India
Society of Oriental Art to revive the ancient
art traditions of India?

fuEufyf[kr esa ls fdlus Hkkjr dh izkphu dyk ijaijkvksa dks
iquthZfor djus ds fy, vksfj,aVy dyk Hkkjrh; lekt dh
LFkkiuk dh gS\
(A) Abanindranath Tagore/vouhanzukFk VSxksj
(B) Ravindranath Tagore/jfoanzukFk VSxksj
(C) Surendranath Tagore/lqjsUnzukFk VSxksj
(D) Mukul Day/eqdqy Ms
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51. 4 men and 10 women can complete a piece
of work in 24 days. 10 men and 4 women
can complete the same work in 18 days. In
how many days can 18 men and 36 women
complete the work?

4 iq:"k vkSj 10 vkSjrsa ,d dke dks 24 fnu esa iwjk dj
ldrs gSA 10 iq:"k rFkk 4 vkSjrsa ml dke dks 18 fnu esa
iwjk dj ldrs gSA 18 iq:"k vkSj 36 vkSjrss ml dke dks
fdrus fnu esa iwjk dj ldrs gSa\
(A) 6 days/fnu (B) 8 days/fnu
(C) 12 days/fnu (D) 18 days/fnu

52. A sum of money becomes ` 12500 after 3
years and ` 18750 after 6 years on
compound interest. Find the sum?

,d jkf'k pØo`f¼ C;kt ij rhu o"kZ ckn c<+dj ̀  12500

rFkk 6 o"kZ ckn ` 18750 gks tkrh gSA jkf'k Kkr dhft,A
(A) ` 9000 (B) ` 8000

(C) ` 8500 (D) ` 8333
1

3

53. If a³ + b³ = 28 and a + b = 4, then find the
value of a4 + b4.

;fn a³ + b³ = 28 vkSj a + b = 4 gS] rks a4 + b4 dk eku
Kkr dhft,\
(A) 82 (B) 112

(C) 100 (D) 65

54. Two candidates contested an election. 12%
of votes was invalid. One got 52% of the total
valid votes. If total votes were 62500, then
find the valid votes that others candidate
got?

nks mEehnokjksa us pquko yM+kA 12% er vekU; FksA ,d
mEehnokj dks dqy ekU; erksa dk 52% feysA ;fn dqy er
62500 Fks] rks nwljs mEehnokj dks feys ekU; er Kkr
dhft,A
(A) 26400 (B) 28600

(C) 30000 (D) 25000

55. Average age of 7 men is increased by three
years when two of them whose ages are 32
and 37 years are replaced by 2 persons. Find
the average age of the newcomers?

7 O;fDr;ksa dh vkSlr vk;q rhu o"kZ c<+ tkrh gS tc nks
O;fDr;ksa  ftudh vk;q 32 o"kZ vkSj 37 o"kZ gS] mu dks vU;
nks ls izfrLFkkfir fd;k tkrk gSA  u;s vkus okys O;fDr;ksa dh
vkSlr vk;q Kkr dhft,\
(A) 39 years/o"kZ (B) 42 years/o"kZ
(C) 45 years/o"kZ (D) 40 years/o"kZ

Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
56. ABC is a triangle. The bisectors of the

internal B and the bisector of the external

C intersect at D. If BDC = 30°, then find

BAC.

ABC ,d f=kHkqt gSA B dk vkarfjd rFkk C dk ckß~;

lef}Hkktd D ij izfrPNsn djrs gSA ;fn BDC = 30°

gS] rks BAC Kkr dhft,\
(A) 60° (B) 50°

(C) 30° (D) 70°

57. 8 litre milk is drawn from a container of

milk and then it is filled with water. This

operation is performed three times more

and the ratio of milk and water becomes

16 : 65. Find the quantity of milk in initially

condition?

,d ik=k tks nw/ ls Hkjk gqvk gS] mlesa ls 8 yhVj nw/ fudky

dj ikuh Hkj fn;k tkrk gSA ;g izfØ;k rhu ckj vkSj dh tkrh

gS rFkk nw/ vkSj ikuh dk vuqikr 16 : 65 gks tkrk gSA

izkjEHk ifjfLFkfr esa nw/ dh ek=kk Kkr dhft,\

(A) 48 litres/yhVj (B) 24 litres/yhVj

(C) 36 litres/yhVj (D) 37 litres/yhVj

58. If A + B = 
2


 and tanA = 

1

3
, then find the

value of cosec A + sec B.

;fn A + B = 
2


 vkSj tanA = 

1

3
 gks] rks

cosec A + sec B dk eku Kkr dhft,A
(A) 1 (B) 2

(C) 3 (D) 4

59. A and B invest in a business in the ratio of

11 : 9. If 10% of the total profit goes to

charity and A's share is ` 990, then find

total profit?

A rFkk B ,d O;kikj esa 11 : 9 ds vuqikr esa fuos'k djrs

gSA ;fn dqy ykHk dk 10% nku dj fn;k tkrk gS vkSj A

dk fgLlk ` 990 gS] rks dqy ykHk Kkr dhft,\
(A) ` 3000 (B) ` 2000

(C) ` 2500 (D) ` 4000
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60. A, B and C can do a piece of work in 30 days,

50 days and 40 days respectively. If A is

assisted by B on one day and by C on the

next day alternatively, then find the time

taken by them to finish the work?

A, B vkSj C fdlh dke dks Øe'k% 30 fnu] 50 fnu rFkk
40 fnu esa dj ldrs gSA ;fn oSdfYid :i ls A dh lgk;rk
,d fnu B }kjk rFkk vxys fnu C ds }kjk dh tkrh gS] rks
dke dks lekIr djus esa muds }kjk fy;k x;k le; Kkr
dhft,\

(A) 17
32

35
 days/fnu (B) 8

64

67
days/fnu

(C) 16
64

67
days/fnu (D) 18 days/fnu

61. If a, b and c are real numbers and a² + 8b² +

9c² = 4b(a +3c), then find a : b : c ?

;fn a, b vkSj c okLrfod la[;k,a gS vkSj a² + 8b² + 9c²

= 4b(a +3c) gS] rks a : b : c Kkr dhft,\
(A) 6 : 2 : 3 (B) 2 : 3 : 6

(C) 6 : 3 : 2 (D) 3 : 2 : 6

62. If the speed of a boat in still water is 20

kmph and the rate of stream is 5 kmph,

then find the distance travelled downstream

in 12 minutes?

;fn uko dh xfr fLFkj ty esa 20 fdeh- izfr ?kaVk ,ao /kjk
dh xfr 5 fdeh- izfr ?kaVk gS] rks /kjk dh fn'kk esa 12 feuV
esa r; dh xbZ nwjh KkRk dhft,\
(A) 5 km/fdeh- (B) 4 km/fdeh-
(C) 6 km/fdeh- (D) 3 km/fdeh-

Direction (63 - 65): Study the following histogram

of marks in mathematics (out of 50) of students

in a class and answer the following questions.

funsZ'k (63 - 65): Nk=kksa ds xf.kr esa izkIr vadks (50 esa ls) dks
n'kkZus okys fuEufyf[kr vk;r fp=k dk vè;;u djsa vkSj fuEufyf[kr
iz'uksa ds mÙkj nhft,A
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63. If 31 is the passing marks, then find the

percentage of number of passed students.

;fn 31 vad mÙkh.kZ gksus ds fy, vfuok;Z gS] rks mÙkh.kZ gq,
Nk=kksa dh la[;k (izfr'kr esa) Kkr dhft,\

(A) 85
5

9
(B) 88

8

9

(C) 87
7

9
(D) 86

6

9
64. Find the total number of students?

Nk=kksa dh dqy la[;k Kkr dhft,\
(A) 120 (B) 125

(C) 130 (D) 135

65. Find the percentage of number of students
who got more than 40 marks.

40 vadks ls vaf/d vad izkIr djus okys Nk=kksa dh la[;k dk
izfr'kr Kkr dhft,\

(A) 44
4

9
(B) 43

3

9

(C) 45
5

9
(D) 46

6

9
66. If (x + 2)² = 9 and (y + 3)² = 25, then find the

maximum value of 
x

y  is-

;fn (x + 2)² = 9 vkSj (y + 3)² = 25 gS] rks 
x

y  dk

vf/dre eku Kkr dhft,\

(A)
1

2
(B)

5

8

(C)
2

5
(D)

1

8

67. If tan  = 
3

4
, then find the value of 

1 – cos

1 cos




?

;fn tan  = 
3

4
 gS] rks 

1 – cos

1 cos




 dk eku Kkr dhft,\

(A)
5

9
(B)

1

9

(C)
9

16
(D)

4

5
68. Vertices of a quadrilateral ABCD are A(0,0),

B(4, 5), C(9, 9) and D(5, 4). What is the figure
of quadrilateral?

,d prqHkqZt ABCD ds 'kh"kZ A(0,0), B(4, 5), C(9, 9)

vkSj D (5, 4) gSA prqHkqZt dh vkd`fr Kkr dhft,\
(A) Square/oxZ
(B) Rectangle/vk;r
(C) Rhombus/leprqHkZqTk
(D) Parallelogram/lekarj prqHkqZt
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69. If  diagonals of a rhombus are 42 cm and 40
cm, then find the perimeter of it?

;fn ,d leprqHkqZt ds fod.kZ 42 lseh- rFkk 40 lseh- gS]
rks bldk ifjeki Kkr dhft,\
(A) 12 cm/lseh- (B) 116 cm/lseh-
(C) 120 cm/lseh- (D) 108 cm/lseh-

70. A shopkeeper marks his goods 60% above
the cost price of an article. He allows a
discount of 15% for cash payment to his
customers. If he receives ` 1496 after
paying discount, then find his profit?

,d nqdkunkj ,d oLrq ds Ø; ewY; ls 60% vf/d vafdr
djrk gSA og udn Hkqxrku djus ij vius xzkgdksa dks 15%

dh NwV nsrk gSA ;fn og NwV nsu ds ckn ̀  1496 izkIr djrk
gS] rks mld ykHk Kkr dhft,\
(A) ` 360 (B) ` 396

(C) ` 1100 (D) ` 300

71. If tan cos 30° =
3

2
, then find the value of

sin( – 15°).

;fn tan cos 30° =
3

2
 gS] rks sin ( – 15°) dk

eku Kkr dhft,\

(A)
3

2
(B)

1

2

(C) 1 (D)
1

2

72. If 9 persons working 8 hours per day earn
` 1080 per week, then 8 persons working 6
hours per day will earn per week.

;fn 9 vkneh izfrfnu 8 ?kaVs dke djus ds ckn ` 1080

izfr lIrkg dekrs gS] rks 8 vkneh izfrfnu 6 ?kaVs dke djus
ds ckn izfr lIrkg fdruk dek;sxsa\

(A) ` 1080 (B) ` 720

(C) ` 800 (D) ` 1000

73. The length of a plot is five times its breadth.

A playground measuring 245 m² occupies

half of total area of the plot. Find the length

of the plot.

,d Hkw[akM dh yEckbZ bldh pkSM+kbZ dh ikap xq.kk gSA

245 eh-² okyk ,d [ksy eSnku Hkw[akM ds dqy {ks=kiQy dk

vk/k gSA Hkwa[kM dh yEckbZ Kkr dhft,\

(A) 7 2 m/ehVj (B) 35 2  m/ehVj

(C) 175 m/ehVj (D) 5 2 m/ehVj

74. In a ABC, if B = 90 and AB : BC = 2 : 1,

then find the value of sin C + cot A + tanB.

,d ABC esa, ;fn B = 90 vkSj AB : BC = 2 : 1

gS] rks sin C + cot A + tanB dk eku Kkr dhft,&

(A)
2 2 5

2



(B) 1

(C)
2 3 5

2



(D) None of these/buesa ls dksbZ ugha
75. Two triangles ABC and PQR are congruent.

If the area of ABC is 72 cm², then find the

area of PQR?

nks f=kHkqt ABC rFkk PQR lokZxale gSaA ;fn  ABC dk

{ks=kiQy 72 lseh-² gS] rks PQR dk {ks=kiQy Kkr dhft,\

(A) 108 cm²/lseh-² (B) 72 cm²/lseh-²

(C) 54 cm²/lseh-² (D) None of these

buesa ls dksbZ ugha
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Part - IV (English Language)

Direction (Qs.76 – 78): In the following

questions, some part of the sentences have

errors and some are correct. Find out which part

of a sentence has an error and blacken the oval

[ ] corresponding to the appropriate letter (A),

(B), (C). If a sentence is free from error, blacken

the oval corresponding to (D) in the Answer

Sheet.

76. You have been more (A)/ able to withstand

the (B)/treaties than did he. (C)/ No Error

(D)/

77. Walking along the (A)/ street, my hat (B)/

was blown off. (C)/ No error (D)

78. Grapes (A) / cannot gathered (B)/ from

thistles. (C)/ No error (D)

Directions (Qs 79-81) : The sentences given

with the blanks are to be filled with an

appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative and indicate it by blackening the

appropriate oval in the Answer Sheet.

79. Sam asked me to keep this secret____.

(A) amid us (B) in myself

(C) amongst us (D) between us

80. I did not see the point of____ for them, so

I went home.

(A) hanging around (B) hanging on

(C) hang together (D) hanging up

81. His listeners enjoyed his___wit but his

victims often winced at its satire.

(A) lugubrious (B) bitter

(C) mournful (D) trenchant

Directions : In question no. 82, out of the four

alternatives, choose the word which best

expresses the meaning of the given word.

82. Legerity

(A) Alacrity (B) Drudgery

(C) Avail (D) Agility

Directions : In question no. 83, out of the four

alternatives, choose the word opposite in

meaning to the given word.

83. Maladroit

(A) Clumsy (B) Adroit

(C) Surrogate (D) August

Directions : In question nos. 84, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.

Find the word spelt correctly/wrongly and mark

your answer in the Answer Sheet.

84. (A) Adolecence (B) Helarious

(C) Simultaniously (D) Haggle

Direction : In Question nos. 85 to 87, four

alternatives are given for the Idiom/Phrase in

bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.

85. To take with a grain of salt

(A) to make a more palatable

(B) to take a small quantity of

(C) to take something meaningful

(D) to accept with misgiving

86. To miss the bus

(A) to miss the bus that one regularly takes

(B) to miss an opportunity

(C) to have something to fall back upon

(D) to find fault with other

87. Stew in your own juice

(A) suffer alone the unpleasant consequences

of your own action.

(B) allow nothing to deter you

(C) show firmness or fortitude

(D) to lose impetus or enthusiasm

Direction (Qs. 88 – 92): In the following

questions, a part of the sentence is underlined.

Below are given alternatives to the underlined

part at (A), (B), (C) which may improve the

sentence. Choose the correct alternative. In

case no improvement is needed your answer is

(D). Mark your answer in the Answer sheet.

88. I will buy the house provided it is quite

sound.

(A) unless (B) whether

(C) until (D) No Improvement

89. Hundreds gathered to await for the boxer's

arrival at the airport.

(A) to await

(B) to awaits for

(C) to wait

(D) No Improvement
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90. We demonstrated to them how we were

prepared the artistic pattern.

(A) are prepared (B)  had prepared

(C) have prepared (D) No Improvement

91. The government requires that these forms

should be submitted before the end of the

financial year.

(A) these forms submission

(B) that these forms be submitted

(C) for these forms to be submitted

(D) No improvement

92. God is omniscient omnipotent, omnipresent

and omniscient, isn't he ?

(A) aren't it (B) isn't it

(C) is it (D) No improvement

Direction (Qs.93 to 96): In the following

questions, out of the four alternatives, choose

the one which can be substituted for the given

sentence.

93. An emolument over and above fixed income

or salary

(A) Honorarium (B) Perquisite

(C) Sinecure (D) Prerogative

94. The art of making fire works

(A) Chromatics (B) Drudgery

(C) Pyrotechnics (D) Cosmetics

95. A women who lures men to destroy them

(A) Circe (B) Amazon

(C) Virago (D) Judas

96. A person who is physically dependent on a

substance.

(A) Criminal (B) Martyr

(C) Gladiator (D) Addict

Direction (Q. No- 97 - 100) : In these questions,

A passage is given with 4 question following

it. Read the passage carefully and choose the

best answer to each question out of the four

alternatives.

In 1760, a man named Tiphaigne de la Roche

made a bizarre prediction. In an imaginary story

called Giphantie, mirror images of scenes from

nature could be captured permanently on a

canvas covered with sticky material. After the

material dried in darkness, the image would

remain on the canvas forever. At the time, the

idea was unheard of. It was not until the following

century that the concept of photography was born,

starting with some experiments by Nicephore

Niepce. Nicephore Niepce, who was a French

inventor, was interested in lithography, which

is a printmaking technique. He was

experimenting with lithography when he found

a way of copying etchings onto glass and pewter

plates using a chemical that changes when it is

exposed to light. He learned to burn images onto

the plates and then print the images on paper.

He shared his findings with Louis Jacques Mande

Daguerre, who improved the process and

announced it to the French Academy of Science

in 1839. The Daguerreotype, the photography

method named after Daguerre, met with great

success. It was so successful, in fact, that French

newspapers said the said the French public had

an illness called Daguerreotypomaina!

Daguerreotypes were inexpensive and were

suitable for portraiture. People called the

Daguerreotype a "mirror with a memory." Some

portrait artists went out of business when

Daguerreotypes came into vogue. Others became

Daguerreotypists, now known as photographers.

97. The term 'bizarre' most commonly means:

(A) Humorous (B) Strange

(C) Popular (D) Obvious

98. When was the concept of photography born?

(A) When an imaginary story called

Giphantie was born

(B) When mirror images of scenes were

captured on a canvas.

(C) When Roche made a prediction

(D) When Nicephore conducted some

experiments

99. What does lithography deal with?

(A) A print making technique

(B) Copying of etchings

(C) Usage of chemicals to make etchings

(D) Usage of light in printing

100. What was the contribution of Daguerre?

(A) He improvised upon the work of Roche.

(B) He introduced the method of photography.

(C) He started the print making technique.

(D) He could print images on canvas.
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